
253

CM

WP

ME

HA

AP

LG

EP

CS

IN

EL

AV

TO

PS

BV

WWW.AIRCRAFTSPRUCE.CAPrices Subject to Change without Notice - Valid as of June 1, 2024.
Please view our website for current prices.

FAA/PMA LANDING 
GEAR PARTS

(FOR STANDARD GEARS)
Left Hand Jack Strut (1)
	 P/N 05-07885
Right Hand Jack Strut (1)
	 P/N 05-07890
Fork End (S-9) (2)
	 P/N 05-07895

Left Hand Lower Leg (3)..............................P/N 05-07900
Right Hand Lower Leg (3)............................P/N 05-07905
Left Hand Upper Arm (4)..............................P/N 05-07910
Right Hand Upper Arm (4)...........................P/N 05-07915
Tie Rod without fittings, 361/4“ long (5)..........P/N 05-07920
Left Hand Jack Strut (Silflex).......................P/N 05-07930

FAA/PMA WING PARTS
Left hand aileron..........................................P/N 05-00452
Right hand aileron........................................P/N 05-00453
Left hand lift strut (metal wing).....................P/N 05-00454
Right hand lift strut (metal wing)..................P/N 05-00455
Carry-thru spar (front or rear).......................P/N 05-00456

FAA/PMA TAIL SECTION PARTS
Fin, square tip..............................................P/N 05-07940
Rudder, square tip........................................P/N 05-07945
Rudder Horn for square tip rudder...............P/N 05-07950
Tailwheel Leaf Spring Assembly..................P/N 06-14600
Main Leaf only..............................................P/N 06-14700
Rudder & Elevator Hinge Pin.......................P/N 05-07825
Rudder & Elevator Hinge Pin Bracket..........P/N 05-07830

PIPER / LUSCOMBE PARTS

LUSCOMBE 8E & 8F EXHAUST STACKS
Left Hand Exhaust Stack
	 P/N 05-07805
Right Hand Exhaust Stack
	 P/N 05-07810

LUSCOMBE CABIN HEAT 
SHROUD

8E & 8F AND 8A-2pc Stacks
	 P/N 05-07820

LUSCOMBE 8A CARBURETOR
& CABIN HEAT SHROUD

FAA/PMA approved.
	 P/N 05-08115

RUDDER & ELEVATOR 
HINGE PIN & BRACKET

Hinge Pin...............................P/N 05-07825
Hinge Pin Bracket..................P/N 05-07830

GAS CAP & LANDING 
LIGHT LENS

Luscombe Gas Cap..P/N 05-07835
Landing Light Lens...P/N 05-07840
Landing Light Lens...P/N 05-07845

VERTICAL FIN FRONT 
ATTACH

Fitting........................P/N 05-07985
Note: This fitting is welded 4130 steel and 
complies with all provisions of A.D. 79-25-
05. This fitting is required only on those 
Luscombes with the “round tip” vertical sta-
bilizer.

TAILWHEEL LEAF SPRINGS
Complete Assembly
P/N 06-14600
Main Leaf Only
P/N 06-14700

ALL-ALUMINUM LANDING GEAR 
FAIRING

FOR STANDARD GEAR

Left.......................................P/N 05-07865
Right....................................P/N 05-07870
 

FOR SILFLEX GEAR
Left.......................................P/N 05-07875
Right....................................P/N 05-07880

(FAA/PMA APPROVED)

PIPER J3 STYLE PARTS
These experimental Piper J3 like style parts will help you achieve the pre or post war appearance you are looking for without taking away from the 
performance. NOT FAA APPROVED.

Description Part No. Price
Landing Gear - Left - 3/8” Bolts 05-12281 ---
Landing Gear - Right - 3/8” Bolts 05-12282 ---
Hub Caps - Sold as Pair 05-12283 ---
Tail Spring 1-1/4” 05-12284 ---
Cabane Vee Assembly - 5/16” Bolts 05-12286 ---
Cabane Vee Assembly - 1/4” Bolts 05-12287 ---
Axle Nut 1-1/4” 05-12288 ---
Step 05-12289 ---
Shock Strut Assembly - 1-Long & 1-Short 05-12290 ---
Rudder 05-12291 ---
Trim Crank 05-12293 ---
Escutcheon 05-12294 ---
Escutcheon Spring 05-12295 ---
Bellcrank Assembly with Tube 05-12296 ---
Rudder Return Spring - 1 Spring 05-12298 ---
Rudder Pedal Floor Plate - 1 Plate 05-12299 ---
Rudder Pedal Clamp - 1 Clamp 05-12300 ---
Torque Tube 05-12301 ---
Control Stick Connector 05-12302 ---
Stick Assembly with Socket 05-12303 ---

Description Part No. Price
Throttle Handle Set with Interconnect 05-12304 ---
Throttle - 1 Throttle 05-12305 ---
Throttle Interconnect - 1 Interconnect 05-12306 ---
Throttle Knob - 1 Knob 05-12307 ---
Fuel On/Off Well 05-12308 ---
Carb Heat On/Off Well 05-12309 ---
Trim Cover Plate 05-12310 ---
Cabin Heat Air Box 05-12311 ---
Floorboards - Pair 05-12312 ---
Rear Seat Cross Tube 05-12313 ---
Front Seat Frame - Standard 05-12314 ---
Front Seat Frame - Heavy Duty 05-12315 ---
Brake Pedal Kit - 2 pieces 05-12316 ---
Exhaust Stack - Left 05-12317 ---
Exhaust Stack - Right 05-12318 ---
Nose Cowl Ram Air Box 05-12321 ---
C-75 - O-200 Generator Cover Plate 05-12322 ---
C-75 - O-200 Starter Cover Plate 05-12323 ---
Fiberglass Nose Bowl Set 05-12324 ---
Continental Lifting Eye 05-12325 ---

1

2

3

4
5

https://www.aircraftspruce.ca/catalog/pnpages/05-07885.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07890.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07895.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07900.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07905.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07910.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07915.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07920.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07930.php
https://www.aircraftspruce.ca/catalog/pnpages/05-00452.php
https://www.aircraftspruce.ca/catalog/pnpages/05-00453.php
https://www.aircraftspruce.ca/catalog/pnpages/05-00454.php
https://www.aircraftspruce.ca/catalog/pnpages/05-00455.php
https://www.aircraftspruce.ca/catalog/pnpages/05-00456.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07940.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07945.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07950.php
https://www.aircraftspruce.ca/catalog/pnpages/06-14600.php
https://www.aircraftspruce.ca/catalog/pnpages/06-14700.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07825.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07830.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07805.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07810.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07820.php
https://www.aircraftspruce.ca/catalog/pnpages/05-08115.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07825.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07830.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07835.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07840.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07845.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07985.php
https://www.aircraftspruce.ca/catalog/pnpages/79-25-05.php
https://www.aircraftspruce.ca/catalog/pnpages/79-25-05.php
https://www.aircraftspruce.ca/catalog/pnpages/06-14600.php
https://www.aircraftspruce.ca/catalog/pnpages/06-14700.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07865.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07870.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07875.php
https://www.aircraftspruce.ca/catalog/pnpages/05-07880.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12281.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12282.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12283.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12284.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12286.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12287.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12288.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12289.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12290.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12291.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12293.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12294.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12295.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12296.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12298.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12299.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12300.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12301.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12302.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12303.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12304.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12305.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12306.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12307.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12308.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12309.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12310.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12311.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12312.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12313.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12314.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12315.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12316.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12317.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12318.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12321.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12322.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12323.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12324.php
https://www.aircraftspruce.ca/catalog/pnpages/05-12325.php



